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A NSHAFE
N =sus €43t
CH9l: MESADR|(CAIDEAILSHS|H) CERE)
S - B - SRA(3) - HIRAY - BES ol &y JE-R DS
AAFMTZ H(EST) AIAE 44l 600 0 600
SHHHAZTZ M (EST) AIAE 2 4,000 0 4,000
HESHID| 22 2,738 0 2,738
O itz 98,530 62,730 35,800
STAMN WSSH At Xz 19,800 18,000 1,800
AEUAS NSAS AU Xt 30,000 0 30,000
225 FLRA SE(LA)F=IE it
= 40,000 36,000 4,000
02 S3=2g4l 15,000 0 15,000
O AIE&EHISXIHI 15,000 0 15,000
49 SEFY SZ 8 15,000 0 15,000
401 AlEHIZ 201 4,180,000 200,000 3,980,000
01 A=l 4,178,020 198,560 3,979,460
O AlLH AKX = a=X1E 0&E S At 49,460 0 49,460
O 848 =8 Sg=IE ZdAY 3,680,000 0 3,680,000
O &Y SZ=XE ZdMY 250,000 0 250,000
03 A& CHYI 1,980 1,440 540
O ALK &JHXIS ab=XtH Ol SAL 540 0 540
wnSAEd=E X ¥ I 600,000 300,000 300,000
401 AlEHIYL 201 600,000 300,000 300,000
01 AlZH| 595,680 297,840 297,840
O WSoUHH AIZ= X & FH| 595,680 297,840 297,840
03 Al =2 THHI 4,320 2,160 2,160
O WSoHE A= X & JH| 4,320 2,160 2,160
A2 RS & 24 =4 600,000 300,000 300,000
401 AIEHIZ R HYI 600,000 300,000 300,000
01 A&l 595,680 297,840 297,840
O AlZU Ttd & 2Tt 595,680 297,840 297,840
03 Al THHI 4,320 2,160 2,160
O A2 Tt & 2Kt 4,320 2,160 2,160
APEC OHHI == nSQolZet JHH 700,000 0 700,000
401 AlEHIZ S 0HbI 700,000 0 700,000
01 AlZHI 700,000 0 700,000
O APEC CHHI == wSolZet i 700,000 0 700,000




